Multiplicacion por Celosia (B)

Use la multiplicacion por celosia para hallar cada producto.

2 9 7 5 2 0 5 8 1
2 1 5
1 6 2
1 6 4
297 x 211 = 520 x 166 = 581 x 524 =
6 3 3 1 3 4 1 8 9
3 4 6
5 1 8
7 7 7
633 x 357 = 134 x 417 = 189 x 687 =
5 2 9 2 6 3 8 0 8
1 6 9
4 9 5
8 5 5
529 x 148 = 263 x 695 = 808 x 955 =
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Multiplicacion por Celosia (B) Respuestas

Use la multiplicacion por celosia para hallar cada producto.

0 0 0 1
0 5 2 9

520 x 148 = 78,292

263 x 695 = 182,785

7 0 7 9

4 0 4 5

808 x 955 = 771,640
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